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Solve the Word Problems

Read the word problems and write them correctly in the model and in the equation.

Michael bought 18 presents for friends and family.
He gave 6 of them to his brother.
Then he gave 5 of them to his sister.
How many presents are left with Michael?
Solve the first mystery and then the second mystery.

OLIO

Michael is left with

O

presents.

O

Carl had 2 boxes of crayons with 6 crayons in each box.

He got 5 more crayons from his brother.
How many crayons does he have now?
Solve the first mystery and then the second mystery.

OLIO

Carl has

O

crayons now.

O




